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1.  Complete the series 

7,13,27, 53,?,213 

(a) 106 

(b) 107 

(c) 105 

(d) 108 

2. If the English letters A to Z are written in a reverse 

order then what is the fourth letter to the right of 

12
th
 letter from the left? 

(a) K 

(b) J 

(c) R 

(d) L 

3. Direction: In a certain code language; „782‟ means 

Flowers are beautiful; „692‟ means „ Roses are red‟, 

„628‟ means „Roses are beautiful‟ 

What does number „9‟ denote? 

(a) Roses 

(b) Flowers 

(c) Red 

(d) are 

4. Pointing out to a lady, a girl said “She is the 

daughter-in-law of the grandmother of my father‟s 

only son.” How is the lady related to the girl? 

(a) Sister-in-law 

(b) Mother 

(c) Aunt 

(d) Can‟t be determined 

5. If + means ÷, - means ×, ÷ means + and × mean -, 

then 36×8+4÷6+2-3=? 

(a) 2 

(b) 18 

(c) 43 

(d) 
1

6
2

 

6. Raj travelled from a point X straight to Y at a 

distance of 80 metres. He turned right and walked 

50 metres, then again turned right and walked 70 

metres. Finally, he turned right and walked 50 

metres. How far is he from the starting point 

(a) 10 metres 

(b) 20 metres 

(c) 50 metres 

(d) 70 metres 

7. Find the missing number at the place of „M‟? 

                      
(a) 36 

(b) 52 

(c) 81 

(d) 117 

 

 

Section – A 
Mental Ability  
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8. Select from the alternative, the box that can be 

formed by folding the sheet shown in figure (X) 

 
(a) A only 

(b) A and C only 

(c) A, C and D only 

(d) A, B, C and D 

9. Raman remembers that the examination is after 

15
th
 May but before 18

th
 May, while Deep 

remembers that the examination is before 21
st
 May 

but after 16
th
 May. On which date of May is the 

examination? 

(a) 17 

(b) 18 

(c) 19 

(d) 20 

10. A monkey climb 30 feet at the beginning of each 

hour and rests for a while when he slips back 20 

feet before he again starts climbing in the 

beginning of the next hour. If he begins his ascent 

at 8.00 am, at what time will he first touch flag at 

120 feet from the ground? 

(a) 4pm 

(b) 5pm 

(c) 6pm 

(d) None of these 

11. There are five players A B, C, D and E in a group. 

One plays football, one plays tennis and one plays 

chess. A and D are maidens and play no game. No 

woman plays either chess or football. There is a 

married couple in the group of which E is husband. 

C's brother is B who is neither a chess player nor a 

tennis player. Who plays chess? 

(a) E    (b) B 

(c) C    (d) F  

12. A family has a man, his wife, their four sons and 

their wives, The family of every son also has 3 

sons and one daughter. Find out the total number 

of male members in the whole family. 

(a) 5    (b) 10 

(c) 15    (d) 17  

13. A man walks 30 km towards East, then turning to 

right he walks 30 km further. Then turning to his 

left he again walks 20 km. Again turning to his left 

he walks 30 km. How far is he from his starting 

point? 

(a) 50 km    (b) 60 km 

(c)  70 km    (d) 100 km 

14. If – means ÷, + means ×, ÷ means –, × means +, 

then which of the following equations is correct? 

(a) 52 ÷ 4 + 5 × 8 – 2 = 36 

(b) 43 × 7 ÷ 5 + 4 – 8 = 25 

(c) 36 × 4 – 12 + 5 ÷ 3 = 420 

(d) 36 – 12 × 6 ÷ 3 + 4 = 60 

15. Which one of the following coded diagrams 

illustrates the relationship among 'Languages', 

'Hindi' and 'English'?  

(a)   (b)  

(c)   (d)  
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16. A man started walking towards South. After 

walking 20 m he turned right and walked 30 m. He 

then turned right and walked 20 m. He again 

turned right and walked 40 m. How far was he 

from his original position? 

(a) 50 m    (b) 20 m 

(c) 10 m    (d) 15 m 

17. Which is the minimum number of colours required 

to fill the spaces in the 

following diagram without 

the adjacent cells having the 

same colour? 

 

(a) 3    

   (b) 4 

(c) 5    (d) 6 

18. Consider the following figure matrix:  

 
Which one of the following will complete the 

figure given above? 

(a)   (b)  

(c)   (d)  

 

19. If in a certain language NEOMAN is coded as 

OGRQFT then ZKCLUP is the code of: 

(a) YJBKTO   (b) YlZHPJ 

(c) YIAQKJ   (d) None of these 

 

20. Find the missing term in the given figures

 
(a) 6    (b) 8 

(c) 10    (d) 14 
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21. The top of a hill observed from the top and bottom 

of a building of height h is at angles of elevation p 

and q respectively. The height of hill is:- 

(a) 
     

         
 

(b) 
     

         
 

(c) 
     

         
 

(d) 
     

         
 

22. The mean and median of 100 items are 50 and 52 

respectively. The value of the largest item is 100. 

It was later found that it is 110 not 100. The true 

mean and median are 

(a) 50.10,52 

(b) 50, 52 

(c) 50, 20, 52 

(d) None of these 

23. For positive x and y, the LCM is 225 and HCF is 

15. There: 

(a) Is exactly one such pair  

(b) Are exactly two such pairs  

(c) Are exactly three such pairs  

(d) Are exactly four such pairs  

24. If a + 1 = b + 2 = c + 3 = d + 4 = a + b + c + d + 5, 

then (a + b + c + d) is equal to: 

(a) – 5  

(b) – 10/3 

(c) – 7/3 

(d) 5/3 

25. If both roots of quadratic equation ax
2
 + bx + c = 0 

are zero then: 

(a) a = 0, b = 0 

(b) b = 0, c = 0  

(c) only c = 0  

(d) a = 0, b = 0, c = 0 

26. The height of a cone is 30 cm. A small cone is cut 

off at the top parallel to the base. If its cut off at 

the top parallel to the base. If its volume is 
 

  
 th 

the volume of the cone, the height at which the 

section is made is 

(a) 10 cm 

(b) 15 cm 

(c) 20 cm 

(d) None of these  

27. When a polynomial p(x) is divided by x – 1, the 

remainder is 3. When p(x) is divided by x – 3, the 

remainder is 5. If r(x) is the remainder when p(x) 

is divided by (x – 1) (x – 3), then the value of       

r( - 2) is : 

(a) – 2 

(b) – 1 

(c) 0 

(d) 4  

28. A person can row a boat at 10 km/h in still water. 

He takes two and half hours to row from A to B 

and back. If the distance between A and B is 12 

km, then the speed of the stream is: 

(a) 3 km/h 

(b) 
1

2 km/h
2

 

(c) 2 km/h 

(d) 
1

1 km/h
2

 

29. Find the area of the shaded region. [All the circles 

shown in the figure are congruent] 

Section – B 
Mathematics  
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(a) 25(
 

 
  ) 

(b) 50  

(c) 100 (
 

 
  ) 

(d) 200 (     

30. If cosec  + cot  = m, then what is the value of sec 

 ? 

(a) m
2
 + 1 

(b) m
2
 – 1  

(c) 
2

2

1

1

m

m




 

(d) 
2

2

1

1

m

m




 

31. A peacock sitting on the top of a tree observes a 

serpent on the ground making an angle of 

depression 30 . If the peacock with a speed of 300 

m per minute catches the serpent in 12 seconds, 

then the height of the tree is: 

(a) 30 m 

(b) 30 3 m  

(c) 30
 m

3

 

(d) 15 m 

32. If a, b, c are in AP, then 

2

2

( )

( )

a c

b ac




is equal to  

(a) 1 

(b) 2 

(c) 3 

(d) 4 

33. ABC is a right angle triangle, right angled at C. If 

p is the length of the perpendicular from C to AB, 

AB = c and BC = a and AC = a, then: 

(a) 
2 2 2

1 1 1

a b p
   

(b) 
2 2 2

1 1 1

p a b
   

(c) 
2 2 2

1 1 1

b p a
   

(d) 
2 2 2

1 1 1

p a b
   

34.  The interior angles of a polygon are in AP. If the 

smallest angle is 120  and the common difference 

is 5 . Then, the number of sides of the polygon are  

(a) 8 

(b) 9 

(c) 10 

(d) 11 

35. In  ABC, XY  is parallel to AC and divides the 

triangle into the parts of equal area. Then the 
AX

AB
equals: 

 

(a) 
2 1

2


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(b) 
2 2

2


 

(c) 
2 2

2


 

(d) 
2 1

2


 

36. Let l be the length of each equal side of an 

isosceles triangle. If the length of each equal side 

is doubled, keeping its heights unchanged, then the 

difference of the squares of bases of the new 

triangle and the given triangle is: 

(a) 0 

(b) 4l
2
 

(c) 9l
2
 

(d) 12l
2
 

37. A rectangle contains three circles, as in the 

diagram, all tangent to the rectangle and to each 

other. The height of the rectangle is 4. Determine 

the width of the rectangle.  

 

(a) 2 2 2  

(b) 3 2 2  

(c) 3 2  

(d) 8 2 2  

38. In the figure O is the center of the circle, CAB is a 

secant, CO = 41 cm, CA = 28 cm and OB = 15. 

OE Ʇ AB, then AE = ….. 

 
(a) 8 cm 

(b) 10 cm 

(c) 12 cm 

(d) 15 cm 

39. If (a, 0), (0, b) and (1, 1) are collinear then 
1 1

a b


= 

(a) 2 

(b) 1 

(c) 3 

(d) 4 

40. One integer is chosen out of 1, 2, 3…….100. What 

is the probability that it is neither divisible by 4 nor 

by 6: 

(a) 0.59 

(b) 0.67 

(c) 0.41 

(d) 0.33 

  



Pinnacle Educare  
Guru Nanak Colony, Opposite Kidzee School, Sangrur-148001, Mob: 98153-55955 

Space for Rough Work 

PSAT (2025-26)  SAMPLE PAPER 

 

 

 
21. Multiple fission occurs in –  

(a) Hydra  

(b) Plasmodium  

(c) Planaria  

(d) All of these  

22. Identify the correct function of x? 

 
(a) Mechanical  

(b) Reproduction  

(c) Preparation of food 

(d) Conduction of water  

23. Xylem is associated with translocation of -  

(a) Water and mineral salts  

(b) Organic nitrogen  

(c) Hormones  

(d) All of the above  

24. Glucose gets converted into pyruvate in –  

(a) Mitochondria  

(b) Muscle cells  

(c) Cytoplasm  

(d) Yeast   

25. Endosperm is formed during the doubled 

fertilisation by –  

(a) Two polar nuclei and one male gamete  

(b)  One polar nuclei and one male gamete  

(c) Ovum and male gamete  

(d) Two polar nuclei and two male gamete  

26. Which is responsible for providing nutrition to the 

growing seed? 

 
(a) B  

(b) A 

(c) All  

(d) C  

27. If the epiglottis does not function correctly, what 

might happen? 

(a) Peristalsis will stop 

(b) Acid reflex disease will damage the esophagus 

(c) One might choke 

(d) Swallowing will be difficult or impossible   

28. Parthenogenesis occurs when  

(a) When embryo in formed without the fusion of 

egg and sperm.  

(b) When embryo is formed by the fusion of egg 

and sperm.  

(c) When embryo is formed from another cell.  

(d) When sperms produce the embryo directly  

Section – B 
Biology 
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29. What is work of copper T? 

(a) To inhibit ovulation  

(b) To inhibit fertilisation  

(c) To inhibit gametogenesis  

(d) None  

30. Ovulation occurs under the influence of  

(a) LH 

(b) FSH 

(c) Estrogen  

(d) Progesterone  

31. Match column I with column II and choose the 

right answer from the options given below: -  

Column I  Column II  

A.  Carbondioxide  1. 1 – 2L per day 

B. Glomerular  2. Respiration  

C. Urine  3. Bowman‟s capsule  

D. Pepsin  4. Stomach  

(a) A – 2, B – 1, C – 3, D – 4  

(b) A – 4, B – 3, C – 1, D – 2  

(c) A – 1, B – 2, C – 4, D – 3  

(d) A – 2, B – 3, C – 1, D – 4  

32. In the dihybrid cross of mendel, out of 16 

progenies in F2 generation, how many were hon 

parental traits? 

(a) 9 

(b) 3 

(c) 6 

(d) 1 

33. Mother is homozygous B, father is A. What will be 

the possible blood gp in their progeny? 

(a) AB and B 

(b) AB and A 

(c) A and B 

(d) O  

34. Identify x and y in the diagram of the heart shown.  

 
(a) X – left ventricle, y – valve  

(b) X – left atrium, y – pulmonary artery  

(c) X – right atrium, y – pulmonary artery  

(d) X – left ventricle, y – pulmonary artery  

35. Blue eyes in an organisms is a dominant character 

over black eyes. What would be the percentage of 

blue eyes in F2 generation as per monohybrid 

cross? 

(a) 75% 

(b) 25% 

(c) 100% 

(d) 50% 

36. Give a term for the action of bile from the below 

options.  

(a) Esterification  

(b) Hydrogenation  

(c) Oxidation  

(d) Emulsification  

37. Deficiency of vasopressin causes –  

(a) Diabetes mellitus  

(b) Goitre  

(c) Diabetes insipidus  

(d) Myxedema  
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38. The phenomenon of exchange of segments  

between paternal and maternal chromosomes is 

called -  

(a) Linkage  

(b) Crossing over 

(c) Recombination  

(d) Segregation  

39. Identify the correct option.  

 

(a) B is called bulbourethral gland 

(b) A is responsible for transporting the sperms 

(c) C produces sperms.  

(d) D is called vas deferens.  

40. Medulla oblongata of hindbrain controls -  

(a)  Rate of heart beat  

(b) Equilibrium  

(c) Thinking  

(d) Vision  
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41. The resistance of all the wires between any two 

adjacent dots is R. Then equivalent resistance 

between A and B as shown in figure is: 

 
(a) 7/3 R 

(b) 7/6 R 

(c) 14/8 R 

(d) None of these  

42. Doctor recommended Ram to use a lines of focal 

length – 50 cm to see the objects clearly. Find the 

maximum distance upto which Ram can see 

without the lens.  

(a) 2 m 

(b) 0.5 m 

(c) Infinite  

(d) 4 m 

43. A person cannot see distinctly objects kept beyond 

2 m. This defect be corrected by using a lens of 

power.  

(a) – 0.2 D 

(b) – 0.5 D 

(c) + 0.2 D 

(d) + 0.5 D 

44. An object O is placed at the position shown in the 

given figure.  

 

 
What are the characteristics of the image formed? 

(a) Real, inverted and diminished 

(b) Real, inverted and enlarged 

(c) Virtual, inverted and diminished  

(d) Virtual, upright and enlarged  

45. The north pole of earth‟s fictious magnet is in the  

(a) Geographical South  

(b) Geographical East  

(c) Geographical West  

(d) Geographical North  

46. A converging lens magnifies a real image to four 

times its original size. Given that the focal length 

of the converging lens is 20 cm. What is the object 

distance? 

(a) 5 cm  

(b) 25 cm 

(c) 40 cm 

(d) 100 cm 

47. Which law states that the direction of the induced 

current is such that it always opposes the cause 

(motion of conductor) which produced it? 

Section – C 
Science 
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(a) Ampere‟s law 

(b) Ohm‟s law 

(c) Lenz‟s law 

(d) Faraday‟s law 

48. In a circular coil, the current is found to be flowing 

in anticlockwise direction. In which direction is the 

magnetic field produced at a point on the axis of 

the coil? 

(a) It is parallel to the plane of the coil. 

(b) It is perpendicular to the plane of the coil.  

(c) It is above the plane of the coil.  

(d) It is below the plane of the coil.  

49. Which of the following correctly shows how a 

light ray travels through a thick converging lens? 

 
(a) P 

(b) S 

(c) Q 

(d) R 

50. What happens when two compass needles are 

placed near a current carrying wire at points P and 

Q as shown below? 

 
(a) Both the needles will not deflect.  

(b) Only needle P will deflect.  

(c) Both the needles will deflect in the same 

direction.  

(d) Both the needles will deflect in the opposite 

direction.  

51. For the given reaction, match column I with 
column II and mark the correct option from the 
codes given below 
Fe2O3 + xCO → yFe + xCO2 
Column I   Column II 
(1) Oxidizing agent   (i) 2 
(2) Reducing agent   (ii) 3 
(3) x    (iii) Fe2O3 
(4) y   (iv) CO 
(a) 1 – (iv); 2 – (iii); 3 – (ii); 4 – (i)  
(b) 1 – (iv); 2 – (iii); 3 – (i); 4 – (ii)  
(c) 1 – (iii); 2 – (iv); 3 – (ii); 4 – (i)  
(d) 1 – (iii); 2 – (iv); 3 – (i); 4 – (ii)  

52. Match column I with Column II and mark the 
correct option from the given codes.  
        Column I                Column II 
(1) NaHCO3   (i) used for 

   disinfecting water 
(2) Na2CO3   (ii) used in soda –acid

   fire extinguishers  
(3) CaOCI2    (iii) used for removing

   permanent hardness
   of water 

(4) 4 2

1
.
2

CaSO H O  (iv) Used for making

   toys, materials for
   decoration  

(a) 1 – (iii); 2 – (i), 3 – (iv); 4 – (ii)  
(b) 1 – (ii); 2 – (iii), 3 – (i); 4 – (iv)  
(c) 1 – (iii); 2 – (ii), 3 – (i); 4 – (iv)  
(d) 1 – (i); 2 – (ii), 3 – (iv); 4 – (iii)  

53. Study the given flow chart carefully and identify 
W, X and Y. 
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(a) W – CH3COOH; X – CH3COOH; Y – CH3COOCH3 
(b) W – H2C = CH2; X – CH3COOCH3; Y – CH3COCH3 
(c) W – HC CH ; X – CH3COOH; Y – CH3 CH2 

CH2OH 

(d) W – H2C = CH2; X – CH3COOH; Y – 

CH3COOCH2CH3 

54. A water insoluble substance ‘X’ on reacting with 

dilute H2SO4 released a colorless and odourless 

gas ‘Y’. When this gas was passed through lime 

water, it initially became milky due to the 

formation of ‘Z’ and the milkness disappeared 

when the gas pass in excess & form ‘R’. X, Y, Z & R 

are respectively  

(a) Limestone, Carbonic acid, Carbon dioxide, 

Calcium bicarbonate 

(b) Quick lime, Limestone, Carbon dioxide, 

Calcium bicarbonate 

(c) Limestone, Carbon dioxide, Calcium 

bicarbonate, Calcium hydroxide 

(d) Limestone, Carbon dioxide, Limestone, 

Calcium bicarbonate 

55. Few organic reactions are given below. Which of 

the reactions is not named correctly? 

(a) CH3COOH + C2H5OH 
H 

CH3COOC2H5 + 

H2O (Esterification) 

(b) CH3COONa + NaOH → CH4 + Na2CO3 

(Decarboxylation) 

(c) CH3COOC2H5 
NaOHCH3COONa + C2H5OH 

(Saponification) 

(d) CH3CH2OH 
2 2 7acidified K Cr O


CH3COOH (Combustion) 

56. Considering the elements B, AI, Mg and K, the 

correct order of their metallic character is  

(a) B > AI > Mg > K 

(b) AI > Mg > B > K 

(c) Mg > AI > K > B 

(d) K > Mg > AI > B 

57. The correct IUPAC name of the compound  

3

3

CH H

| |

CH - C = C - COOH

is  

(a) 2-Methylbut -2-enoic acid 

(b) 3-Methylbut -3-enoic acid  

(c) 3-Methylbut -2-enoic acid  

(d) 2-Methylbut -3-enoic acid  

58. In the reaction, 2

3 2 3CO H O HCO OH    

water is a  

(a) Bronsted acid  

(b) Bronsted base 

(c) Conjugate acid 

(d) Conjugate base  

59. Which of the following is not an example of 

decomposition reaction? 

(a) CaCO3(s) → CaO(s) + CO2(g) 

(b) Ca(OH)2(s) → CaO(s) + H2O(l) 

(c) CuSO4. 5H2O(s) → CuSO4(s) + 5H2O(g) 

(d) 2KCIO3(s) → 2KCI(s) + 3O2(g)  
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60. Observe the rate of evolution of hydrogen gas with five metals P, Q, R, S and T at room temperature. What could 

be the metals P, Q, R, S and T? 

 
P Q R S T 

(a) Zn AI  Mg Cu Fe 
(b) Mg  AI Zn Fe Cu 
(c) AI  Zn Mg Fe Cu 
(d) Fe Zn Mg AI Cu 
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1 b 21 b 21 b 41 b 

2 a 22 a 22 b 42 a 

3 c 23 b 23 a 43 d 

4 d 24 b 24 c 44 d 

5 c 25 b 25 a 45 a 

6 a 26 c 26 b 46 b 

7 a 27 c 27 c 47 c 

8 a 28 c 28 a 48 b 

9 a 29 c 29 b 49 a 

10 c 30 d 30 a 50 d 

11 a 11 a 31 a 51 c 

12 d 12 d 32 d 52 b 

13 a 13 a 33 d 53 d 

14 a 14 a 34 b 54 d 

15 c 15 c 35 b 55 d 

16 c 16 c 36 d 56 d 

17 b 17 b 37 b 57 c 

18 c 18 c 38 c 58 a 

19 b 19 b 39 b 59 c 

20 c 20 c 40 b 60 b 


